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Calcomp 00000 O plotsOfactorOplotdwheredsymboldnewpen O O O O Ocentsym colorOcurvel
arcdnewpageOspecial 00 0000000000000 IcoldIpage O Int 000 O Fctr, Curx, Cury
Ofleat 0000000000000 DODOO0ODOOODOOOOODOOODODOOODOOO%0

plots(char *title, int *ww, int *wh) 000000 calcomp.ps 0000000 OCalcompO 000
00000000 23000000000wwdwhDODOO0OD0OO0O0O0OOODO Encapsulated PostScript
OEPSOOOOO0O0O0O0O0OO “%%BoundingBox 0 0 ww wh” 0000000 OO O BoundingBox O O
Jooooooooooooooo

plots 00 0000000000000 PostScripp 00000000 ODOODOOOOOODOODOO
O0plot 0000000000000 0000O0O0O00O0O0000N (x,y)OJOOOOO plined00
gooooa

/pline {newpath moveto lineto setlgray stroke}def

pline 0000 0”10.0 10.0 30.0 10.0 pline” OO0 O0O0O0O0ODO newpath 0000 OO O O30.0 10.0
moveto 1 0000000 (30,10) 000 0010.0 10.0 lineto D000 (10,10) D00 000 O O Ostroke
gboooooogooo

oboocoooboooooooboooon

/Courier findfont 10 scalefont setfont

0000000000000 0xO00000D000000000 arcd “xyrfromtoarc” 0000
(z,y) DOUO0Or0000000 from 00000 toO00OO0O0O0OOOO “50603circle’ J00O0OOO
“50603”0000000O00O “circle” O “newpath 0 360 arc” DO OO0 OOOO0DOODOODO Onewpath
000000000 “506030360arc” 00000000000 (50,60) 000 300000000

/circle{newpath 0 360 arc }def
/square{newpath /Dim exch def moveto Dim Dim rmoveto O Dim 2 mul neg rlineto
Dim 2 mul neg O rlineto O Dim 2 mul rlineto closepath }def
/xmark{newpath /Dim exch def moveto Dim Dim rmoveto Dim 2 mul neg Dim 2 mul neg
rlineto O Dim 2 mul rmoveto Dim 2 mul Dim 2 mul neg rlineto closepath }def

“5060 3square” 0 30 /Dim 0000000000000 “0 60 moveto” 0000 (50,60) 0000
OO0“3rmoveto” 0000000000000 OO00O0 “032mul negrlinetoe” 00000000000
ooooso
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plot(float *x, float *y, int *opr) 0 300 oprJ “3”0000000000000 (Curx,Cury) O
000000000oo0“o0l0d00000o0o0oo0ooon (r,y) O0DO0DODOOO0OOOOOO
000 “Curx Cury x y pline” 0000000000 plotssO0000O0O0 “/pline{newpath moveto lineto
stroke} def” 000000000000 Lol DOO0O0O0DO0OO0O00DOOOO0O “call plot(0.,0.,3)”0 “call
plot(1.,0.,2)” 0 “call plot(2.,1.,2)? 0000000000 “0.0 0.0 1.0 0.0 pline” 0 “1.0 0.0 2.0 1.0 pline”
000000002000 “2010lineto” 000D O0DO0O0O0DODO0OO0O0DODOOODODOODODOOOO
Jooooooboooooooooboobooooobobbbooooooobobobbooo

opr 0 “30000000000O “ranslate” D000 ODO0OO“999” 0000 “showpage” 0000
goobooooooooooon

where(float *x, float *y) 000 (Curx,Cury) D00 (x,y) D000

symbol(float *x, float *y, char *text) UUO0O text 0 (z,y) DO0OOFortran 000000000
00000DCcO0dnoodoOstring0D 00000 “\0O"O0000000DO00000DO0OO0OoOg
odoDodpDooooooooooooooooooooooooooooooooDooocuooooon
dooooooo \ovoodoDoOoDoDoobDoooDooDoooDoooDoooDooooooooooaoad
0000 “call symbol(10.5,20.5’ABC’)” 0 “C’000000000000000O0 “newpath 10.5 20.5
moveto 1 setlgray ABC show stroke” 0000000000 3000000000

linewidth(int *iwidth) 0000 iwidthOOOOOOO0O0OOOO0O0O0O0OO “iwidth setlinewidth”
goooog

centsym(float *x, float *y, int *mark, float *fm) 000 fm D000 000 x 00000 mark
0O 1000 “call centsym(10.5,20.5,1,1.2)” 000000 “10.5 20.5 1.2 circle stroke” 00200000
Oo00O00O0d “10.520.5 1.2 square stroke” 003 00000000000 “10.520.5 1.2 xmark stroke”
ooooooo

newpen(int *icolor) 0000000 32000000 0r = mod(32—icolor,32)0b = mod(icolor, 32)
0000000000 “c0bsetrgbecolor” 000O00O0ODO 00000000 OO0O0 0 setrgbeolor)d
gooooOoQoOoOoOoOoOoOopoOoOoOoQoDOOoOOOObOObObOOLo

curve(float *x1, float *y1, float *x2, float *y2,float *x3, float *y3) 0000 (x0,y0) OO0
00 (z1,y1)0 (x2,y2)0 (z3,y3) 0 400 30000000000000000000O0OO0OO “newpath
To Yo moveto” O “xy y; 2o Yo T3 y3 curveto stroke” 00O OO0 O0OO00O 2,y OO0 Fetr OOODO
ood

arc(float *r, float *al, float *a2) 000 (z0,9) 00000000 r00000000 1000
a200000000000Odegree00 000 2000000DOOOODOO0ODOO“newpath zg yo r ay as
arc stroke” OO0 00000000 0O Fetr OO0O0O0QOOO

newpage() 000000000000 0000O0O0O000ODOO0OOO “showpage” 0 “%%Page: 0O
gooor»ooag”

“Adobe 00 EPSOO00O0DODOOOOOOOODO “%%Pages: 0000000007 0000000000000000
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special(char *text) “call special’ 000"’ 000000000000 “000”?00000000
OO000000000OOescape hatchO OO OO0OOO00OO0O0O0OO0O0OOOODODOOODODOPostScript
0000000ooooooo0ooooDooooooooO “callplot” 000000000 OOOOO
000000 calcomps.c 000000000000 DDOOOOOOOOPostScript 000 Calcomp OO
0000000000000 oo0o0oooooooong PostSeripp0 00 000D0O0OOO0O
Oo0oo0oooooooooooooooooooooooooon

0000000 accO00D0O00O0O00O0DODODOOOOODDOOOOOOOOOODOOOOOOO
0000000000000 o0oooooooDoDo0 arc 0000000 0ODOOOOOODOOOOO
O “/eonvex1” 0000000000000 r1 000 1000000000000 O0O0O0O “convex1”
ooooooooooooooooon

character*l endstr

data endstr/’\0’/

call special (’/convexl {newpath 170 180 arc stroke } def\0’)
write(charg,’(£9.2," 0 ",f9.2," convex1")’) cl*f+sox,rl1*f
call special(charg//endstr)

FortranOOOOOOO0OO0 COOOO0O0DODO0OOOOOOO0O0O“callspecial”’ 0000000000
gooooopoooooooocCcooOoOoOoOoOoOoOOoOOOOOOOO0O0OoOoooOObOOoOoObDoo
Ooo0o0oooO0oobooooobo0o0ooOo0oob00oDO0o00DD dataDD 10000 endstr
000000000000000000000 ¢//7000000000080

Fortran 0O OOOO GNUOOOOOOOOFortranOOOOODOOO COOOOOOODOODOCODO
ocooooogoo “»o0oooo0ooooooooooboooooboooooooooboOoOoooo

/* wrapper for GNU Fortran  */

void plots_(char *disp, int *ww, int *wh)

{ plots ( disp, wW, wh);}

void plot_(float #*x, float *y, int *opr)

{ plot ( X, Vs, opr);}

void symbol_(float *x, float *y, char *text)

{ symbol ( X, Y, text);}
gooog

22 0QUO00O0O0OOOOOOOODOOODOOCO ballf

000000 vwUOOO ¢00000000O0OOOOCOOO0O0O0O0O0OOOO0O0O0 vy = 35m/s O
00000 s001000200030004000450050006000000 8O00Db0ODOODOOODOO
0 O parameter 0 ncase=8 00 000000 ncase 000 angle(l:ncase) 0000000 dataO0O 8
000000000000 00000000000 2000 v,=vcosf0yO000 vy, =vpsinf@ 000
Ox=v,t000 y:vyt—O.Sgt2I:lI:lI:l|:|g29.8m/s2|:||:|DDDDDDDDDDDDDDDDDDD
00o0o000o0o000o0o0ooo0o0ooDoU0o0o00 y=00000000 t=2v,/g0000
0 Zmae = 20,0y /g 000 v3/90000 yYmer =v;/(29) 0000000 35m/s =126km/s 00000
oo0Rsm 00000000

parameter (ncase=8)
dimension angle(ncase)
character*100 ch,charg

S000000D000D00D0020000000000000



0200000000000

character*4 clabel

data ch/’ball’/,iww/400/,iwh/300/
data g/9.8/,n/20/,v/35./,angle/5.,10.,20.,30.,40.,45.,50.,60./
RAD(X) = X * 3.141592 / 180.0

--- determine figure size ---
xaxis=v**2/g; yaxis=v**2/(2%g)
f=float (iww) /xaxis
write(*,*) ° Xmax=’,xaxis,’ Ymax=’,yaxis,’ f=’,f

Oo0ooO00o0oobooO0 n=200000000000000000000O000ODO0O0O0 200000
coooo20000000000000000DODOO000O0DDODODO0ODOODODO0ODOOOODODODOOO
000 “callsymbol” 00000000000 OOO “character*4 clabel”’ 00000000 “4.17 000

oooooood

400000000000

call plots (ch,iww,iwh)
call factor (f)
call plot (5.,10.,-3)
call pline (0.,0.,xaxis,0.)
call pline (0.,0.,0.,yaxis)
Do k=1,ncase
vx=v*cos (rad(angle(k))); vy=v*sin(rad(angle(k)))
time=2*vy/g; dt=time/n; mark=mod(k,3)+1; ymax=0
call plot (0.,0.,3)
do i=1,n
t=i*xdt; x=vx*t; y=vy*t-0.b5*gxt*t
if (y.gt.ymax) then
at=x; ymax=y
endif
call plot (x,y,2)
call centsym (x,y,mark,0.1%f)
enddo

write(clabel,’(f4.1)’) angle(k)
call symbol (at,ymax,clabel)
Enddo

“call pline” O “subroutine pline(x1,y1,x2,y2)” O 000 (z1,y1) U0 (20,92) 00000001000

ooo20000

2000000 “allnewpage” OO0 0D O00O0OODOODOOOOODODOODOOODOODOOOODOO
ogoao
call newpage
call factor (f)
call plot (10.,10.,-3)

call
call

pline (0.,0.,xaxis,0.)
pline (0.,0.,0.,yaxis)




O3 000b0boooogon

Do k=1,ncase
vx=v*cos (rad(angle(k))); vy=v*sin(rad(angle(k)))
time=2*vy/g; dt=time/n; ymax=0
call color (k*3)
call plot (0.,0.,3)
do i=1,n
t=i*dt; x=vx*t; y=vy*t-0.5*gxt*t
if (y.gt.ymax) then
at=x; ymax=y
endif
call plot (x,y,2)
call centsym (x,y,2,0.1%f)
enddo
write(clabel,’(f4.1)’) angle(k)
call symbol (at,ymax,clabel)
Enddo

call plot (t,y,999)

200000030000

23 0DUO0O0O0O0OODOOObDOObDOObDOObDOObOO PlotLens.f

4000000000 1000000000000 “callplot(...,—3)’0000000000000OO
gooooOoOoOO0OOOODODOOOO000000000000004000000000000000
01g0oooooopo0ooooooebbO0O0OoDObOO0O0OOOO00O0DOOOOODDOOODODODOO
0000000000000 00D0OO000OD0OODdlenssinglellensdouble lenstesserdlensgausst [
gooooOoOoQoOoOoOoQoOoOoOooOoQoOoOOoOoObOOObObObOLo

data iww/800/, iwh/600/

call plots (ch,iww,iwh)
call plot (100.,500.,-3)
call lenssingle

call plot (0.,-130.,-3)
call lensdouble

call plot (0.,-130.,-3)
call lenstesser

call plot (0.,-130.,-3)
call lensgauss

call plot (0.,0.,999)
stop

end
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gooooobooobooogboboooboooobooboooboooooogD 20mmO00000D0O0O
o0 180000boboooooooboooog

SUBROUTINE lenssingle

implicit double precision (A-H,0-R,T-Z)
dimension saber(50)

data nray/25/,f/5.40/

c
call plot (0.,0.,-3)
€ e
r1=120.; a=0.d0
p=-1.d0; cl=rl; r2=ri
c2=5.d0-c1 ! 5.-100.
call pline (-50.,0.,500.,0.) ! X axis
€ e e
call factor (real(f))
call plot(real(cl),0.,3) ! move to lens center
call arc (real(r1),170.,180.)
€ o
call plot(real(c2),0.,3) ! move to lens center
call arc (real(r2),0.,10.)
€ o
rrat=1.8d0 ! r1=75.7 ==> f=51.6
dy=16.d0/dble (nray)
c
do i=1,nray
y=i*dy; q=y
call incdnt(cl,rl,p,q,a,x1,y1)
call snell (cil,rl,a,x1,yl,rrat,g)
call incdnt(c2,r2,x1,y1,g,x2,y2)
call snell (c2,r2,g,x2,y2,1.d0/rrat,gg)
x3=(gg*x2-y2) /gg
c
call plot (real(p),real(q),3)
call plot (real(xl),real(yl),2)
call plot (real(x2),real(y2),2)
call plot (real(x3),0.,2)
saber (i)=x3 ! save Aberration point
enddo
c
dmx=0.
call plot(saber(1),0.0,3)
do i=1,nray
sy=i*dy
call plot(saber(i),sy,2)
if (abs(saber(i)-saber(1)).gt.dmx) dmx=abs (saber(i)-saber(1))
enddo
c
write(*,*) ’LensSingle xmax =’,dmx
c

call factor (1.0)
return
end

00000000 AO0000D0000O0O0O00O0O0O0UOUOOO0OUOOOOOOO f—gh OO
0000 g(h) OOODDOO0OOOOOOOOOOOOO
000000000gh) 0 ROODDOOODOOOO0O®

‘0000000000000 000000000000000000ooon
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sin(f—a) _
sm(By) "

04000000

000000 inednt 000000000 P(p,g) 00000 «a000
y—q=a(xr—p)

go

(x—c)?+y?> =12

00000000000000000 R(z,y) 000002020000
(1+a*)z” —2(c+a’p—aq)r + ¢ + a’p” —2aqp+ ¢* —1° =0

000200000P0O0000O0O00O0O0O0O0O0O0O0OODsnellO00 R(x,y)DOODOOOOODOOO
b=y/(zr—-c)000000000 ¢gy00000O040000000000000000D000O0O0O0O
a00O00OOODOOOOOO nOOO0O0OOO0OOOOOO yOOOOOODOODOOOOOOODODRO B
0000000000000 sin(f—a)/sin(f—v)=n00000000000000000000 a0
pO0y00000 a=tanalb=tanf0g=tany 00000000 00 «O0D0OODODOOOODOOO
UbOnbOO00O0O0DOODOODOODOOOODOOODOOODOODOODOOn

oooooooobooooD 4000000D0O000O0O0D0OODOOODOSG6OOODOOOODDO
0000000 2000000 7000000000000000000 100000000000

O00000oooooDoO DOOOO0O0O000000D0D00LeitzCanada0000OO0O0O0OOCOOOOO
0000 MbommF200000000000000000O0O0OD0O [2[01981000000000000O0
0O1o0o0ob0obooo0oooooooooooboooooooorooooo
gooooobooboboo4060bob0obDO0ob0oobOobDobOoobDobOOoobObOOoDoOn 5040
gooooooooooboooobobooooobobooooobobDo 1bobobbooooboboo
gboooooboooboobooooooobooooboooobooboooooboOobooooooboOobooon
gooogboobooboboobooboboobobooboboooobbooobobobbooboon
googobooboobobobboooboobooboobooboobooboobooboo

OgooD0D0000000000D00000000000000000000000000000000000000000
gooooOoooooOoOo0ooooOoOoO0OooOoOO0OO0O0boOoOO0OO0O0MOO0O0O0OOO0OO0O0O0O0O0OOOOOOOGOOOO00O0
gooooooooooboOoOoOoOODOOOO0O0O000 S0 3000000000O0O0OO0O200000DODOOOOO0OO B0 2
goooOoO0oooOoO0oOo0OooOoO0O00oO0OO0O000000 4smmk280000000000000O00O0COOOOOCOO
goooooooo0o0oooooooboOOObObOO0o0o0ooooooooO ve20000000D0O0O0OOOOODOOODOOOTOOO
go0o0ooooooooocbooooooooboOooOobob 19y 0boboooooooooooooooooooooobooOonoo
goooooooobooooooOoOOOO0O000000ooooboOoOobOOOODOOO0O0O0DO00OOODODOOODODODOOOOOO
O000000O00O0000p. 8200
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rors
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O07.00000000:000 summicron F2.0
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0O 1: Leica Summicron M50mm F2O0 00000

f =100, F2,2w = 45°

oooo ajujn 000 ny 00 0 T o Too0 7

" 59.94 0.0 | 59.94 20417
di 9.57 | 1.78831 | 47.39 Y,y 29.44

ro 167.31 9.57 | 176.88 10.135
d» 038 | 1.0(00O)

rs 40.30 9.95 | 50.25 34.800
ds 1435 | 1.66755 | 41.93 ya,ye  23.00

r4 oco(00O) 24.30 00
da 287 | 1.72825 | 28.41

rs 25.67 27.17 | 88.00 40.174
ds 2420 | 1.0 16.56

re o769 | 51.37 | 23.68 | 7Y° 36.730
de  1.91 | 1.62588 | 35.70

ry 00 53.28 00
dy 765 | 171700 | 47.98 yrys  20.61

re ~40.30 60.93 | 20.63 30.755
ds 038 | 1.0

rg 00 61.31 00
do 861 | 1.71700 | 47.98 25.39

ro  -59.94 | 69.92 | 9.8 | Y0 25.064

24 0UO0O0OUO0ODO0ODLDOODOODOODOOD plotest.f

gooooooboobooobooooooboooobooooboboooobobooooboboobo
000000000 PostScript 000000000 O0XOOOOOOOOOOOOOOOOO PostScript
gooooobooooboooono

00000 plotest.f0 100000 “call testfig” 00000 “read(*,*) xx,yy’ 0000000000
obooooobooooobobooo20000b0b00ob0ob0oooobooboooooboobooonoog

25 0O0O0O0OO calcompt.c

BTEX 2:0 0 pspicture OO0 pstricks 0000000000 OPostSeript 000000000000
000 PostScrit 00 OO0 00000 DOODOOO0ODOOOODOODOOOOOOOOO

plots(char *title, int *ww, int *wh) 00 000000 calcomt.tex 000000000 0OO0O
goooooooo

void plots(char *title, int *ww, int *wh) {
int i;
float p;
output=fopen("calcompt.tex","w");
fprintf (output,"\\documentclass{jarticle}\n");
fprintf (output,"\\usepackage{pstricks}\n");
fprintf (output,"\\begin{document}\n") ;
fprintf (output,"\\begin{figure}\n");
fprintf (output,"\\begin{center}\n");
fprintf (output,"\\psset{unit=1pt}\n");
Ww=*ww; Wh=*wh;
fprintf (output,"\\begin{pspicture}(0,0) (%d,%d)\n",Ww,Wh) ;
/* Initialize internal variables */
Iput=0; Fctr=1.; Icol=1; Ipage+=1;

plot(float *x, float *y, int *opr) 0O  plot OO

px=*x*Fctr; py=*y*Fctr;
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switch ( (*opr) ) {

case -3 : /* new origin will be used, \put(x,y){ */
printf ("\\put (%£,%£){\n",px,py);
fprintf (output,"\\put (%4£,%£){\n",px,py);
Iput+=1;
break;

case 2 : /* move to (x,y) with pen down */
xx0 = Curx; yy0 = Cury;
xx1l = px; yyl = py;
if(Icol<=1) fprintf(output,"\\psline(%f,%f) (%f,%f)\n",xx0,yy0,xx1,yyl);
if(Icol==2) fprintf (output,"\\psline[linecolor=red] (%f,%f) (%f,%f)\n",xx0,yy0,xx1,yyl);
if(Icol==3) fprintf(output,"\\psline[linecolor=blue] (%f,%f) (%4f,%f)\n",xx0,yy0,xx1,yyl);
if(Icol==4) fprintf(output,"\\psline[linecolor=green] (%f,%L) (%f,%£f)\n",xx0,yy0,xx1,yyl);
if (Icol==5) fprintf (output,"\\psline[linecolor=cyan] (%f,%f) (%f,%f)\n",xx0,yy0,xx1,yyl);
if(Icol==6) fprintf(output,"\\psline[linecolor=magenta] (%f,%f) (%f,%f)\n",xx0,yy0,xxl,yyl);
if(Icol==7) fprintf (output,"\\psline[linecolor=yellow] (%f,%f) (f,%f)\n",xx0,yy0,xx1,yyl);
break;

case 999 : /* end of plot */
for(i=0; i<Iput; i++) fprintf(output,"}\n");
fprintf (output,"\\end{pspicture}\n");
fprintf (output,"\\end{center}\n");
fprintf (output,"\\end{figure}\n");
fprintf (output,"\\end{document}\n");

fclose(output);
printf("End of plot\n");
break;
default : /* case 3 ’move to (x,y) with pen up’ */
break; /* OR other *opr is specified  */

}
Curx = px, Cury = py;

newpage 1[0 figure0D OO ODOOO0OOOOOOO

void newpage () {
int i;
for(i=0; i<Iput; i++) fprintf (output,"}\n");
fprintf (output,"\\end{pspicture}\n");
fprintf (output,"\\end{center}\n");
fprintf (output,"\\end{figure}\n");
fprintf (output, "UALAARAALAAAA\D") ;
fprintf (output,"\\begin{figure}\n");
fprintf (output,"\\begin{center}\n");
fprintf (output,"\\psset{unit=1pt}\n");
fprintf (output,"\\begin{pspicture} (0,0) (%d,%d) \n",Ww,Wh) ;
/* Initialize internal variables */
Iput=0; Fctr=1.; Icol=1; Ipage+=1;

curve 00 \psbezier 000000

arcd00 \psarcOODOOODO

symbolO0O 0000 wputdOOO0O0O

centsym OO psdots 0000000000 O00O0O00O0O0O00O dotstyleDO0O0OO

mdot=(*mark) %5+1;
xx0 = (*x) * Fctr; yy0 = (*y) * Fctr;
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cooo Fortran 00O O cooo Fortran 00O O

cooooo cooooo
Xooooo PostScript Xooooo PostScript

O & FortranOOOODOO0ODO0OODOUNIXOOOOOO CygwinOOOOO

switch ( mdot )
{
case 5 /* trianglex mark x/
fprintf (output,"\\psdots[dotstyle=triangle*] (4f,%f)\n",xx0,yy0) ;
break;
case 4 : /* square* mark */
fprintf (output,"\\psdots[dotstyle=square*] (4f,%f)\n",xx0,yy0) ;
break;
case 3 : /* circlex mark */
fprintf (output,"\\psdots[dotstyle=+] (4f,%f)\n",xx0,yy0) ;
break;
case 2 : /* square */
fprintf (output,"\\psdots[dotstyle=square] (%f,%f)\n",xx0,yy0) ;
break;
default : /* circle */
fprintf (output,"\\psdots[dotstyle=o] (Jif,%f)\n",xx0,yy0);
break;
}
Curx=xx0, Cury=yy0;

newpenl 0000000 8OU00O0ODOOOOODOODOODOODOOOOODObDOODODODOO

3 CalcompUUU00O000O0O0OXOOOOOOO

X-WindowOOOOOODECOOOOOOOOAthena0000000000O00 MITOOOOOO
ooooooOooooooooooooooooooobooooD 14000 00ooo0oboooDOg
oooooogobooooooooo “gooooooooooooooooboooooooOooog
00”"000000000M00000 CaleompOd0 000000000000 DOOOODOOODOOXDO
OO00000OoopooodOCalcomp 000000000 PostSeripp0 0000000 0O0O0XOOO
ocoooooboooooobogooooooooooboooooobooooooIIBMOOOOOODOO
UNIXOOO GNUOODOOO UNIXOCygwinO OO O OO OOODO8OD

3.1 XOOood

oooooogoooooooooooSuooooooooooooooooooOoooooDOoooDo
gooooOoOooOoOoOoOoOoOoOoOOOOOOSOOOOODODODODODODOOOOOOODOoOoOoOoOoOOQ

NgpooDOoO000000D00000000000000000000000000000000000000000000000
go0oo0o0Do0o0o0oo0ooooOoO0Ob00000o0oo0O0
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gooooboooooobooobooooooboooD Xgooooooooooooboooboooo
googoo

ooobDoooooobo DoOObOoOoOoOoooooDbobos;00ooogooooooobooog
ooooooooooOogUooooo20000d0oodooooo0oooooooooooDoo
000000 LANODOODODODOOO0O0O000000000000000000000DODO0000000O
XOoooooooopopopopoopoooooooo

XO0OOoooooLANOOOOOOooooOoOoooooooooooooooooooooooooo
0000000000000 00D0D0D00D00ooo000o0O00000000 10000000000
0000000000000 000000000000000000000O0O0ODOO0O0OOOOOOO0
gooOoOoOoOoOoooo0 wlegm 0000000000000 O0O0OOOOOOOOOOOOOOOO
ooo

gooooO0oOoOoOoOoOOOOOOOODOOOO0O0000000000000000000O0O0ODODODOO
0000000000000 000O00DO0000000000 “login” 0 “telnet” OO0 O0O0OO0OO0DODO
gooOoOoOoOoOoOoOoOoOoOOOoOOOOOOOOOOOOOOODOOOODOOOregnOOOOOOO
Oo00ooooooOooUUoUoooobodd legind000O0OoOoOoOoOoO0ooooooOogoooo
goooooOoOoOoOO0OO0OOOOODDODOO0O0OOODOOOOO0OO0OO0O0O0O000000000000000
00000000000ooo00000o0Do0o000000o0DoD0000oo0oODoODo0oDooooDoOO
gooooOoOoOoOoOoOoOoOOO00OOOOOOO DISPLAYOOOOOOOOOIPOOOOODOOO
oooooooo

000 XO 00000000 PaulAsente 000000000 W 0000000000000 O0O0O
oooOoOooODD19g70 90ODOMITO X11OODOOOODDOOOX11R2O000000 MIT OO 1988
01000000 XO0oOooooooooooooooooo UNX OODOoOoOoooooOoooUuUNIXOo
LnuxO00OO0O0O0OO0OO0O0O000O0DOO0O0ODOO0O0OO0 Windows OO Cygwin 000 startxwin.bat 0 O
goooooOoOooooooODOoOOo

oo00oO00ooooOo0 XOoOod 0OOoOoooooooOO0OLANOOOO0OOO0OOOOoODOOoOgo
coooooooooooooOooooooogdsshODOoOoODODODOOOOoOoOoDooooOnO «<Xooog
O”’0X11goooooo0oggooooooooooooogooooooooooo0gooooog
OoooooooooO0ooooooooooooo IBMOOOOOO0OOOoOoOoOOD PCO ThinkPadO
gOoOoOoOoOOoO0Qo CygwinOOOOXOOOOOo IBMODOODODODODODODODODOOXOOOOOOoOoO
OO000000 “%sh-XOOO Ibe@OOOO07’00000000000000000C0O000O0 telnet O
000000000000000ssh00000000 “echo $DISPLAY’ D000 ODO0O0OO0OO0OOO
“0000:15.0°00000telnet 00 0000000000000 OO0OOOODOO”export DISPLAY=
gooo:10’0o0oooooooooo pCO0Xooooopopopooopoboo

X0OO O0ooobooooooboooXoooooboobooooooboboo oooboboboooooboo
ooooooo Xoooooooo obooobooooXoooooooobooooooXgooo
gooC0O0O0O0OoOXOOOooooooooo XgoooooXooooooo Xoooo LANOOO
gboboooobobooobobobooobooboooobooooobobooono

3.2 CalcompUOODOOOOOOOOO

XO0ooooooooXibOoOo cogdoopoooooooooooooooooooooooooog
goobooooobbo20b00000o0oooocooooboooooooooooooooooboooon
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O0000000000000000000XDrawLineODO 00 XDrawArcOO O O 00 XDrawRectangleOD
O000XDrawStringD 0 40000000000000000000OXSetLineAttributesd 00 0O 0

gbooooobobooboobooobooobobooooooobooobobo 200000000000
OO0O0OO0OOQOPostScripp0 0000000000000 DOO0ODODOODOUDODDUDODODDODOODOOOO
goboogobooboooboboboobbobobobboooboobobobooboboboobogbd
gooooooooooboooogoooboooboooobooboooobobooooboobbooog
OoooooOoooooooOooooo0ooobo0o0oob0o0oDO0o0OoDD Expose OO0
goo

XOOooboooooo XOoooooooooboooooboobooobooobooobooooozOyobooo
gboooooobobooooboobbooobooboooboobboobobooobooooobooooooboon
oooooo0o0oxObyoooooODOOOOOOoDOOOO0OoOOO0O0OoOo XibooOoOooooDOOOOy
ooooooooooobooogo
X00000OD0D0O0oO0O0O0OoO0Oooo0o0oooooo0o0o0o0o0vVRAMOOOOODODODODOOoOoooog
gooooooooOoooUooUoOooOoOoboOoOobOOOOUOOOOOOO VRAMOOOOOOOOoQod
gobooooboooobOoooobooboooooooboooooooooooobooobbooooooon
000 Calcomp 0000000 NCOLOROOOODOOOOOOODOOOOOO “color(icolor)” 00000
00000000000 “newpen(ipen)” 0000000000000 0O0O

00000 PostScript 10O OD0ODOOO0OOOOOO0O XOOOOOOOO10oogoooooooo
00000000000000 “call plot(x,y,999)”’00 00 “callnewpage” 0000000000000
0 “while(1)’000000000000000O00OOCOOOCOOOOOOOOOOOOOO0O0O0O0O0O0
OO0000O0000ooO000oDoO00oDO0oo0oDD Expese0000000DOOOODOODODOOO
OO00o0XO0OooOooOooooooooDooooooDooooo0DD “callnewpage” OO0 OOO
ooo

void newpage(){

XFlush (Dpp); gbobobobooboo
while(1){ goboboobgoo
XNextEvent (Dpp, &ev);
if (ev.type == Expose) re_draw(); Expose O 0OOOOOOOOO
if (ev.type == KeyPress) break; KeyOOOOOOOOOOOOOOooOO

}
XClearWindow (Dpp,Wd);
ICOL=0; IPEN=1; Nopr=Nchar=0; ooo
XSetLineAttributes (Dpp,gd[ICOL],1,LineSolid,CapButt,JoinMiter);
Orgx=0rgy=Curx=Cury=0; Fctr=1;

}

“call plot(x,y,999)” D0 0000000000 0ODOO “xit(l)> 00000000000 OOOOO
oood

calcompx.c 00000000 XibOOOOOODOOODOOO X11/Xlib.h O X11/Xutilth OO OO
ooooobooo XoooooooxXxoooooooboooooobooboooouoooooooogo
gbooobobooooobobooooboobboobooooobooboooooboboooOoobooDbn
obooooobooboboooboooobooboooboonog

#include <stdio.h>
#include <X11/X1ib.h>
#include <X11/Xutil.h>
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#define CHARLEN 100
#tdefine NCOLOR 33

Display *Dpp; goobooodoooooooooooo

Window Wd; 010000100000000

GC gd [NCOLOR+1] ; Ogoo0o00oO000000oO0oooooooooaoao
XEvent ev ; gooo0oooooooooon

XFontStruct *fontinfo; goooooooOooIipooooooooooooon
unsigned long pixels[NCOLOR+1];

int ICOL, IPEN, Wx=0, Wy=0, Ww, Wh; UO0OO0O0OOOOOOOO0O

float Fctr, Orgx, Orgy, Curx, Cury; goooooooooooo

int screen,black,white;

int Nopr,Nchar; oooo

char Chxy[10000]; oooo

typedef struct{int type,x,y,r,s,t,u;}Xy; O0O0O0O

XY XYopr[5000]; oooog

GC O Graphic Context D OO OO

plots0 0000000 XOpenDisplay(NULL)OOOOOOOOOOOOOOOOOOOOOOOXO
ooooooOooooooooOoooobo0oooooooobo0obDooOO Displayoobooong
gopooxXoooooboooooooooboboooboooooboooboooooooooNULLODOOO

googboobooboon

XCreateSimpleWindow 0 X OO OODOOODOODOODOOOOODODOOOOO XDefaultScreen 0 0O 0O
Oo00ooooooooo wwOWhOOOOOOODODOOOOODOOOOOOOXMapWindow OO0

goooooobooooob1oboboobooooooobooooboobooooobooo

plots(char *disp, int *ww, int #*wh){
XColor colors;
Colormap cmap;
Window rw;
/*XSetWindowAttributes attr; */
int fontascent,fontheight;
int i,mid,pix;
char dispname [CHARLEN];
unsigned long plane_masks[NCOLOR+1];

for(i=0; (i<CHARLEN) && (*(disp+i) != ’ ’); i++) dispname[il= *(disp+i);
dispname[i]="\0";

Dpp = XOpenDisplay (NULL) ; /* connects to server x/

screen = XDefaultScreen(Dpp) ;

Ww = *yw; Wh = *yh;

black = XBlackPixel(Dpp,screen);
white = XWhitePixel(Dpp,screen);

cmap = DefaultColormap(Dpp,screen);

rw = XDefaultRootWindow (Dpp); /* window_id for root window */

Wd = XCreateSimpleWindow(Dpp,rw,Wx,Wy,Ww,Wh,2,white,black); /* generate window
XStoreName (Dpp, Wd, dispname ); /* Name of window */
XChangeWindowAttributes (Dpp, Wd, CWBackingStore, &attr );

XMapWindow (Dpp,Wd); /* map window */

XSelectInput (Dpp,Wd,KeyPressMask|ExposureMask) ;

000 XSelectlhnput 00 000000000000 O0O000OO0OO0O00O0O ExpeseODOOOOOOOO

ooooooooo
oboooooooooobobooooooooogoooon

/*x*x*x color definition ok Rk Kk KKk
gd[0] = XCreateGC(Dpp,rw,0,NULL);
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colors.red 65535; colors.green = 65535; colors.blue = 65535;
colors.flags = DoRed|DoGreen|DoBlue;
XAllocColor (Dpp,cmap,&colors) ;

XSetForeground (Dpp,gd[0],colors.pixel) ;

mid=(NCOLOR+1)/2; pix=65536/(NCOLOR-1);
for (i=1;i<(NCOLOR+1) ;i++) {
gd[i]l = XCreateGC(Dpp,rw,0,NULL);
if(i <= mid ) {
colors.blue = 65535;
colors.green= (2*pix*(i-1))<65535 7 2*pix*(i-1) : 65535;
colors.red = 0;
} else {
colors.blue = 2*pix*(mid-i);
colors.green= 2xpix*(NCOLOR-1i);
colors.red = ((i-mid)*2*pix < 65535) 7 (i-mid)*2*pix : 65535;
}
colors.flags = DoRed|DoGreen|DoBlue;
XAllocColor (Dpp,cmap,&colors) ;
XSetForeground (Dpp,gd[i],colors.pixel);
}
/* Initialize with IPEN=unit width, ICOL=white */
ICOL = 0 ; IPEN =1 ;
XSetLineAttributes (Dpp, gd[ICOL], 1, LineSolid, CapButt, JoinMiter );

OO0000000D0000000 starpalettef 00 O0O00OO0OOO0OO0O
factor U0 O0O0D00OOO0ODO FetrOOOODODO
plot00 0300 «“3 0000000000 Orgx00rgy0 0000000300 “3?000000

OO0default 00 000000000000 (2,y) 000000000000 00000O0O0O0OOOO
300 220000 XDrawLine 00000000000 ODOO0ODOOOOODOO

void plot(float *x, float *y, int *opr){
int i,ix0,iy0,ix1,iy1;
float px,py;
px=*x*Fctr; py=*xy*Fctr;
switch ( (*opr) ){

case -3 : /* move origin */
Orgx+=px; Orgy+=py;
break;

case 2 /* move to (x,y) with pen down */

ix0=(int) (Curx+0rgx); iy0=(int) (Cury+0rgy) ;
ix1=(int) (px +0rgx); iyl=(int) (py +0rgy);
/* XDrawLine (Dpp,Wd,gd[ICOL],ix0,Wh-iy0,ix1,Wh-iy1); */

Xline ( ix0,Wh-iy0,ix1,Wh-iy1);
break;

case 999 : /* end of plot */
XFlush (Dpp);
while(1){

XNextEvent (Dpp, &ev);
if (ev.type == Expose) re_draw();
if (ev.type == KeyPress) exit(1);
}
for (i=1;i<(NCOLOR+1) ;i++)
XFreeGC (Dpp, gdl[il);
XDestroyWindow (Dpp, Wd);
XFlush (Dpp) ;
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XCloseDisplay (Dpp) ;
break;
default : /* case 3 ’move to (x,y) with pen up’*/
break; /* OR other xopr is specified*/
}
Curx=px; Cury=py;
}

XDrawLine 000 XLine 0O0O0O0OOO0O0OOO0OODOO“allplot” 0000 XDrawLinedODOOGOOO
Oo0oooo0oooooooooool10000oooooooooog

“999" 000000000000 XFlushOOOODODODODOOOOXOOOODODOooDooXibooooo
0o00ooooooooooo Xoooooooooooooooooooooooooooooood
000000000000 o00ooo00ooo00oDo0OXFlushOOOOOOOODOOOOODOOOO
Oo0ooooooooooooooooo Xoooooooo
Oo0oooooooooooooooooooooooooooooooooooooo

where 00 000 Curx 0O Cury 0 OO0OOOOOOOO0ODOOPostScript 0000000000
O translate 0000000000 Owhere 0000000 Curx O Coy O0DOD00ODOODOODO
00000 Calcomp 0O0DO0OODODOODOOOXODO calcompx.c J0 00O calcomps.c 000000
(Curx+Orgx,Cury+Orgy) 0000000 (Curx,Cury) 000000000000 OOOOOOOO
0000000 where OO O Oplotest.f 0000000 0QOO

e To know (Orgx,0rgy)
call plot (0.,0.,3)
call where (ox,o0y)
write(*,*) ’orgx=’,ox,’ orgy=’,o0y

calcomps.c 000 (Curx,Cury) 0000000000000 OOOO (Orgx,Orgy) D0OOOOOO
goooono

c To know current point
call where (x,y)
write(*,*) ’Raw Current Point(’,x,’,’,y,’)’
write(*,*) ’Current Point(’,x-ox,’,’,y-oy,’)’

symbolOD 00000000000 OO0ODOOOOODOOOOOOOOODOOODOOODOODOOO
O XTextWidth OO0 0000000000000 00000O00 XlibOOOOOOOOOXSetFont O
XDrawString 0 0000000200000 CalecompO0O00000000000000O0XlbOOOOO
oooooogooooooooboooooboOoboboo0ooooooooobooooXiboobooog
obooobOyobOOoooobOobOOoOoOoobooooybOobOOoOooobOobooooo

newpen 00 plots 00000000 gd[icolor U0 ]0 0 0 XSetLineAttributes 0 00000

linewidth OO0 O00000O0O0OO0O0ODODOXSetLineAttributes 000000000000 OOO
goooog

PXTextWidth 0000000000000 0000000TRX O TFMOOOOOOODO0000D000000000000
goo0oooooOo0oooooobooboonoo
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centsym OO 03000 10defaut00000 XDrawArc JOOO0O0OO fm 000000 fmO0O
4000020000 XDrawRectangle 0000000 fmO00000003 0000 XDrawLine O
OO00Ox0oOooog

carve 00 300000000 640000000000plot 0000000

arcJ0 XDrawArcOOODOOODOOOO

newpage 00 “call plot(x,y,999)" 00 000000000000 0OOOOO0OOOOOOOOOOO
00000 “callnewpage” OO ODOODOO

void newpage (){

XFlush (Dpp);

while(1){ /* wait until key in */
XNextEvent (Dpp, &ev);
if (ev.type == Expose) re_draw();
if (ev.type == KeyPress) break;

}

XClearWindow (Dpp,Wd);

ICOL=0; IPEN=1 ;

XSetLineAttributes (Dpp,gd[ICOL],1,LineSolid,CapButt,JoinMiter);

Orgx=0rgy=Curx=Cury=0; Fctr=1;

XFlushOOOOOOODOOOOO XOOOOoODOOOOOOOoOoooOoDOOOOOoOoooooooo
Expose 00O O0OO0O0DOOOO0OODOOOOOOOOOOOOOOOOOOODOOOOOOOOOO

newpage 00 200000000000000000O0O0D0OCOO0OO0O0O0O00O0ODOOplotest.f OO
ooooooo

call plots (’plotest ’,iww,iwh)

c - draw figure at 100,200 ----—-
call plot (100.,200.,-3)
call testfig
call newpage

c - draw figure at xx,yy = --———-
write(*,*) ’input (x,y) for new origin’
read(*,*) xx,yy
call plot (xx,yy,-3)
call testfig

call plot (0.,0.,999)

000 (100,200) 000 testig 000000000 0OOnewpage 00000000000 OOOO
00000000XOOOOOOoOoOOoOooooOOd “input (x,y) for new origin” 000000 read 0O
0000000000000 200300 0000000000 (200,300) 000 testfigd 200000
oooo

special 00 0O0OO0O00OO

U0O0000 xpause UOO0O0OO0OO0O0O0OO0O0OO0O0O0OOOOCOOODOOOOOOOOOOOOOO
U0 newpage UD O UODOOODOOO0ODO0ODOODOODOODOODO
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void xpause(){
while(1){
XNextEvent (Dpp, &ev);
if (ev.type == KeyPress) break;
}
}

O000000ooooooo0o0ooooooDoooo00ooooooooOg starpalettef 00O
O diamond 0O OOOO0OD0O 200000000000000000000DOOO0OOOOOODOOOO
obooooooobooooooooboon

subroutine diamond (cx,cy,scale,ncolor)
integer x(0:22),y(0:22)

double precision th

scolor=ncolor/12.0

call factor (scale)

do i=0,22

th=2.d0%3.141592d0 * i / 23.d0
x(i)=cos(th) *150+cx; y(i)=sin(th)*150+cy
enddo

Do k=12,1,-1
icolor=scolorx*k
call color (icolor)
m=0
do i=0,23
j=mod (m+k, 23)
if(k.eq.12.and.i.eq.0) then
call plot (float(x(j)),float(y(j)),3)
else
call plot (float(x(j)),float(y(j)),2)
endif
m=j
enddo
call xpause
Enddo
return

000000000 ODO00D00ooDOO0oDo0o0Do0oooooooooDoooDooDooooooon
0000000000000 ooooooooooooooooooooooooooooooooon
0000000000000B¥000000000000000000000000000000O0000
000000000000 OswitchODO caseD 0000000000000 DO0ODODOOOODOODOOO
000000000000 oOoICOLOODODIPENDOODOOODODOODOODOODOODOOO
0000000000000 0o0o0o0D0D0o00O0D0DOoDOoOn0 XSetLineAttribute 000 OO
0000000000 o0bOOoDoOoo0o0oOo0oobOooDoobOoDooooobDooobDOoooDoon
000000000000 0000D00000000000D00O0Nopr 000000 DOtype=10 OO
0 XDrawLine 00 0O O OO

int Nopr; oooo
typedef struct{int type,x,y,r,s,t,u;}XY;
XY XYopr[5000];

BOoooDoo0D000D00000000000D0000000
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09 0o0oboboooogn

Xline (int x0,int yO0,int x1,int y1){
XDrawLine (Dpp,Wd,gd [ICOL],x0,y0,x1,y1); ooooo
XYopr [Nopr] .type=1; XYopr[Nopr].x=x0; XYopr[Nopr]l.y=y0; DO0OOOODO0O
XYopr [Nopr] .r=x1; XYopr[Nopr].s=y1l; Nopr+=1; }

“call plot(x,y,999)” 00 0O “call newpage” 00000000000 Expose 00000 DO0O0OO0OODO
00000 redraw OO0 00000000 DO0ODOOODOODOODOOO

void re_draw(){

int i;

IPEN=1, ICOL=0;

for(i=0; i<Nopr; i++){

switch ( XYopr[il.type ){
case 1

XDrawLine (Dpp,Wd,gd [ICOL] ,XYopr[i] .x,XYopr[i].y,XYopr[i].r,XYopr[i].s);
break;

OO0000D00DO0O0D000000 type=40000000 10000000 Chxy OOOQOOOO
oooooooob0 lendoooooon

int Nchar;
char Chxy[10000];
Xstring (int x0,int yO,char *chtx,int len){
int i;
XDrawString (Dpp,Wd,gd[ICOL],x0,y0,chtx,len);
XYopr [Nopr] .type=4; XYopr[Nopr]l.x=x0; XYopr[Nopr].y=yO; XYopr[Nopr].r=len;
for(i=0; i<lemn ; i++ ) Chxy[Nchar+i] = *(chtx+i);

Nchar+=len; Nopr+=1; }

gbooooboooon
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case 4 :
len=XYopr[i] .r;
for(j=0; j<len; j++) chtx[jl=Chxy[k+j]; /* =*(chtx+j)=Chxyl[k+j]; */
XDrawString (Dpp,Wd,gd[ICOL],XYopr[il.x,XYopr[il.y,chtx,len);
k+=len; break;

Jodd

[1] DO0UOO0.00000D.00DDUOOOO, 1994,
2] DOO0O.00000UO0ODOUO.OD0OOOO), 199.
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